#### CITY OF SMYRNA PURCHASING DEPARTMENT 2800 KING STREET SMYRNA, GEORGIA 30080 678-631-5406

TO:

Frank Martin, Public Works Director

FROM:

Kelly Brown, Purchasing Manager

DATE:

June 7, 2019

SUBJECT:

Recommendation - RFQ 19-021 Water Line Installation State Route 280

The City of Smyrna requested bids for a lump sum contract for the installation of approximately 2147 feet of 12" Ductile Iron water line, valves and fittings for State Route 280 beginning immediately south bound of Banks Street to south of Church Road. The City will be providing the water line, valves, pipes, copper, fittings, etc. Eight (8) contractors purchased the bid plans and two (2) bids were received. The low bidder is K.M. Davis Contracting Co. Inc. in the amount of \$377,545.00. Please see the bid results below.

BIDDER	TOTAL
K.M. Davis Contracting Co. Inc.	\$377,545.00
Ardito Construction Co. Inc.	\$498,570.00

It is the recommendation of the Purchasing Department and Public Works that this project be awarded to the lowest bidder, K.M. Davis Contracting Co. Inc.

Please prepare any necessary paperwork to present to Mayor and Council for approval.



#### BID PRICING FORM

# RFQ 19-021 WATER LINE INSTALLATION FOR STATE ROUTE 280

COMPANY K.M. DAVIS CONTRACTING COMPANY, INC.
ADDRESS: 3259 AUSTELL ROAD MARIETTA, GEDRGIA 30008
CONTACT: MIKE DAVIS PHONE 770-434-0095
EMAIL: Kmdcc@bellsouth.net
The K.M.DAVIS CONTRACTING COMPANY, INC. Company submits the following bid for RFQ 19-021 Public Works Addition as specified in the Specifications section.
Total Price for this Project*
\$ 377,545.00
Anticipated Project Length: Calendar Days
*PLEASE PROVIDE LINE ITEM PRICE LIST WITH YOUR SUBMISSION
Contractor must provide current copies of any required State Licenses and the Individual's name hat holds that license and their position with the company.
Printed Name: MILLER DAVIS
Title: PRESIDENT
Date: 6-4-19

Please complete and submit the Acknowledgements below:

#### **ACKNOWLEDGEMENTS**

	We acknowledge that we take no exceptions to the specifications.
OR	
-	We acknowledge that we do take exceptions to the specifications and an itemized
	list of exceptions is attached.
V	_We acknowledge that we have read and signed the Contractor and Subcontractor
	Affidavits.
V	_We acknowledge that this work will be completed within the City's required time
	frame.
	K.M. DAVIS COMPANY, INC. Company Name  Signature  MILLER DAVIS
	Printed Name
	PRESIDENT Title
	Date 05-30-19

K.M. Davis Contracting Co., Inc.

# Project: Water Line Installation For State Route 280

<u>Item No</u>	<u>Description</u>	Qty	Unit
1	Mobilization	1	Lump Sum
2	12 Inch D.I. Pipe	2,200	LF
3	8 Inch D.I. Pipe	914	LF
4	Fire Hydrant	4	Each
5	12 Inch Gate Valve	6	Each
6	8 Inch Gate Valve	10	Each
7	6 Inch Gate Valve	8	Each
8	Anchor Coupling	4	Each
9	16 Inch Case Bore	340	LF
10	24 Inch Case Bore	217	LF
11	Fittings		Tons
12	12 Inch Connections	1	Each
13	8 Inch Connections	4	Each
14	6 Inch Connections	3	Each
15	1 Inch Water Service	3	Each
16	1 Inch Copper	100	LF
17	Concrete Trench Cap		SY
18	Concre		$\mathbf{C}\mathbf{Y}$
19	Concrete Flume	1	Each
20	Remove Sidewalk	25	SY
21	1 Inch Service Abandonment	5	Each
22	Erosion Control	1	Lump Sum
23	Remove 72 Inch Junction Box	1	Lump Sum
24	Remove 18 Inch R.C.P.	1	Lump Sum
25	Final Clean-up	1	Lump Sum





#### **BID PRICING FORM**

# RFQ 19-021 WATER LINE INSTALLATION FOR STATE ROUTE 280

COMPANY Ardito Construction Co. Inc.
ADDRESS: 1290 Austell Rd. Marietta, Ga. 3008
CONTACT: Chuck Ardito PHONE 478-418-0040
EMAIL: Chuck ardito@arditoconstruction.com
The Archo Construction (D. Inc. Company submits the following bid for RFQ 19-021 Public Works Addition as specified in the Specifications section.
Total Price for this Project*
\$ 498,570.00
Anticipated Project Length: 90 Calendar Days
*PLEASE PROVIDE LINE ITEM PRICE LIST WITH YOUR SUBMISSION  Contractor must provide current copies of any required State Licenses and the Individual's name
hat holds that license and their position with the company.
Submitted By: Cle W. Cle
Printed Name: Charles M. Ardito
Title: C. F. D.  Date: 6/4/19
Date: 6/4/19

# ARDITO CONSTRUCTION COMPANY INC. F-mail: chuck ardito@arc GEORGIA UTILITY CONTRACTOR E-mail:

# **Ardito Construction Company Inc.**

### 1290 Austell Road, SE Marietta, GA 30008

chuck.ardito@arditoconstruction.com

# **Estimate**

Date		Estimate #			
	6/4/2019	609			

Name / Address	Project
City of Smyrna 2800 King Street Smyrna, Ga. 30080	South Cobb Drive Water Main Extension

Description	Qty	Unit	Unit Price	Total
South Cobb Drive Water Main Extension				
12" Ductile Iron Water Main (Bank St. to South Side of Church St.)				
RFQ 19-021				
- 12 x 1" Wet Tap	4	EA	100.00	400.00
- 1" Short Side Water Service	4	EA	200.00	800.00
- 6" Ductile Iron Class 51 (4 - 6' depth)	138	L.F.	5.50	759.00
- 8" Ductile Iron Class 51 (4 - 6' depth)	774	L.F.	8.00	6,192.00
- 12" Ductile Iron Class 51 (4 - 6' depth)	2,180	L.F.	22.00	47,960.00
- 1 inch Cap Existing Service	4	EA	250.00	1,000.00
- 6 inch Cap Existing Water Line	5	EA	250.00	1,250.00
- 8 inch Cap Existing Water Line	3	EA	250.00	750.00
- 16 Inch .250 Wall Steel Casing Bore	341	L.F.	135.00	46,035.00
- 24 inch .250 Wall Steel Casing Bore	217	L.F.	302.00	65,534.00
- M & H 3 way 6" Fire Hydrant Complete	5	EA	400.00	2,000.00
- Remove Existing Fire Hydrant	1	EA	400.00	400.00
- Asphalt/ Concrete Saw Cut	626	L.F.	2.00	1,252.00
- Haul Off (Concrete/ Asphalt)	65	C.Y.	20.00	1,300.00
- Haul Off (Dirt)	90	C.Y.	20.00	1,800.00
- Change in Direction (inc. One 12" Cap)	42	EA	550.00	23,100.00
- Line Valves M & H	26	EA	50.00	1,300.00
- Grade Lock/ Anchor Coupling	5	EA	25.00	125.00
- Reducer	4	EA	25.00	100.00
- Solid Sleeve	8	EA	25.00	200.00
- Threaded Rod (3/4")	200	L.F.	1.00	200.00
- Chlorinate and Flush Water Main	3	EA	250.00	750.00
- Water Main Tie In (4 - 10")	12	EA	500.00	6,000,00
( Plaza Drive: 6 x 6", Apartment Meter: 6 x 6", Pinehill Drive: 8 x				5,555.55
8", Apartment Meter: 6 x 6", At Self Storage: 6 x 6", Ask-Kay Drive:				
8 x 8", Four 12 x 8", Church Street: Two 8 x 8"				
- Water Main Tie In (12 - 20")	2	EA	550.00	1,100.00
( Bank Street: 12 x 12", At Church Street: 12 x 12"				1,100.00
- Traffic Control	18	EA	250.00	4,500.00
Please Call Me If You Have Any Questions Or Concerns:(678) 618-02-	Est	imate	Total:	

# **Ardito Construction Company Inc.**

#### 1290 Austell Road, SE Marietta, GA 30008

Phone/ Fax: 770-435-3776

E-mail: chuck.ardito@arditoconstruction.com

# **Estimate**

Date	Estimate #
6/4/2019	609

Name / Address	Project		
City of Smyrna 2800 King Street Smyrna, Ga. 30080	South Cobb Drive Water Main Extension		

Description	Qty	Unit	Unit Price	Total
- Contractor's Hourly Rate	55	Hrs.	250.00	13,750.00
NOTE:				
1. Locating/ Excavating Existing Water Main/ Utilities.				
2. 8 x 8" Tee Cut In at Church Street.				
3. Additional Depth South Cobb Asphalt Saw Cut.				
4. Additional Erosion Control Measures.				
- 8" GAB, 6" Concrete Trench Cap 1 ft. larger than ditch in all	2,027	S.F.	10.25	20,776.75
directions, 2" Asphalt	~			
- South Cobb Drive Mill & Overlay 1.5" by One Lane Width. (5	12,000	S.F.	8.00	96,000.00
Locations)				2
- 24 inch Vertical Curb	135	L.F.	32.00	4,320.00
- Sidewalk 4 Inches/ Flume Replacement	814	S.F.	7.95	6,471.30
- Concrete Deadman	1	EA	1,250.00	1,250.00
- Temporary Silt Fence Type A (Sd1-NS)	1,380	L.F.	3.00	4,140.00
- Temporary Silt Fence Type C (Sd1-S)	1,670	L.F.	3.00	5,010.00
- Construction Exit (Co)	9	EA	2,500.00	22,500.00
- Grading Complete & Permanent Grassing	1	L.S.	80,411.77	80,411.77
Water Main Total:				469,436.82
Storm Drain Items:				
- Remove Existing 18 in R.C.P. Storm Drain Pipe	35	L.F.	36.00	1,260.00
- 30 in R.C.P. Storm Drain Pipe	35	L.F.	286.35	10,022.25
- Remove/ Replace Existing Junction Box with 72" Dia. J.B.	1	L.S.	10,994.85	10,994.85
- 60" Dia. Junction Box	1	L.S.	6,856.08	6,856.08
Storm Drain Total:				29,133.18
100 C C C C C C C C C C C C C C C C C C				
				j
				7
Please Call Me If You Have Any Questions Or Concerns:(678) 618-024	0	:t-	Total	

**Estimate Total:** 

\$498,570.00

Please complete and submit the Acknowledgements below:

#### **ACKNOWLEDGEMENTS**

_/	We acknowledge that we take no exceptions to the specifications.
OR	
~	We acknowledge that we do take exceptions to the specifications and an itemized list of exceptions is attached.  We acknowledge that we have read and signed the Contractor and Subcontractor
/	Affidavits.  We acknowledge that this work will be completed within the City's required time frame.
	Ardito Construction Co. Inc. Company Name  Clay. Att Signature Charles M. Ardito
	Printed Name  C.F. D.  Title  Date 6/4/19